est reults: Here goes up to 1.79V
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T close Up of SW2
Continuous Conversion Chanmel L’ -7 i ™ s .
}Um AINO } ConTC {AD A S //,’ .
.; é 7 O \'I.\’ uccessive roximation ister |=—— TS /, > \
Ope —I—“.ﬁv:‘\'.l\_ Cosk ] ; an:lznlml Logic " - ,’/ \\\
20K Bk /__«ng-@// WRD ki \
o . I O —
B BB e S SO R N ) — ==
Same as ! E" Seral |, . DATACLK,
AINO AN, 3{;:"5 E i.% Comparator Data II| O
: n—\.-*\.’\/\—l—v'\fn\,:‘\—u fo Out | SDATA
i 20K Bk *, SW?2 .'. - \ O
: A0k ’o.. “o’ Parall=l \‘
i AlNy O AV Z et '3:"3 —;j—"'- D7-D0 AI\NO O O
y ’I::‘:l;\ I Intemal |- BYTE \\\Open 2.5V GND? ’
V4 CAR Sufer \2 5 Ret ' /!
ZLL Bk N
REF O . SN )
SW1
t|'.'—_: T ’
e aintul e linl s WeNelulia e Walinivs ()
o S mgl -1 ' What is the SW2’s
) /tl J \ [llll; Status after t1?
=
RIT I|I I|I 'I\\II‘ (1] L - :I | I |'/ | I | 'I || .II I|I |I || |I II N
BUSYT Q2’ 17111 (B)
one What is the status
— o T T ] of SW2 when
SDATA 'l Bit 15 (MS8) Bit 14 . Bit 1 Bit0 (LSE) Tagl | S
= '. =-. BUSY goes Up?

(A)RICis | )

ist

P

B) BUSY



Test Result, Here is 1.79V to 62mV in case (E)
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After the BUSY go up and R/C goes

high to low ( %), customer changes

Ain0 to Ainl.....In this time,

how is the state of previous channel(Ain0)?
SW1 Just Oepn? ( If so, it should be 1.79V), but
Test result is 62mV.

D) Do you have any criteria (max limit) for tX?
Even though t1 is within spec(max 12us),

tX it may be long in the customer’s case
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Conversion Currently in Progress:
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Channel Address for Conversion:
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Results from Conversion: *
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FIGURE 8. Channel Addressing in Normal Conversion Mode (CONTC and CS LOW).
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Problem:

After conversion of Ainl, and then
there are delay to next Ain2 channel
conversion due to MCU setting .

(i.e. next R/C rise/fall is delay)

After conversion of A|n ' and then
there are delay to next A|n2 channel conversion u

* to MCU setting'.

(|e next R/C rise/fall | delay)

|n 10.0mY "y 1
== 1 3
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